Rainfall Calculations

Concluded that as a rule of thumb you could use the following:
(sq ft) x (.62) = gph

Works for a 1"per hour rainfall.



Cubic feet X 7.5 = GPH 

GPH X .083 = 1” of rain per hour

 
To get the amount of water to be pumped you need the number of gallons over the area to be drained. To determine this you have to get the cubic feet of water and multiply this by 7.5 to get the gallons per hour.
 
Here's an example:
If the roof or parking area is 4,000 sq. feet (40x100) and the amount of rain is 2 inches (one-sixth of a foot), then you multiply 4,000 by .166( one-sixth of a foot). 
That equals 664 cubic feet of water. 
664 cubic feet multiplied by 7.5 (gallons in a cubic foot) equals 4980 gallons.
This is 4,980 gallons per hour of rain water produced over 4000 Sq feet over a one hour period @ 2" of rain per hour.
 
This means you need to specify a pump capable of about 5000 gallons per hour at the head in the system.
 
More clarification.
3000 square foot house probably has 4000 square foot of rain exposure.
If it rains 12 inches of rain per hour (that's a HUGE DOWNPOUR) then the roof area
would be under a foot of water! (4000 square feet x 1 ft deep = 4000 cubic feet of water)
So if it rains 2 inches per hour then that would be 1/6th of a foot. (more likely)
There are 7.5 gallons in a cubic foot of water. 4000x1.66=664. 664x7.5gallons=4980gph.
Look at your pump charts to determine the head and flow.
Of course 1 inches of rain would be half that again. 4" of rain double it.
 

Chris

